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˜!Çþ” ²Ìyhsýßi ¤‚‡Äy=!¡ ²ÌöìÙÀîû ôyl !löì˜Å¢†þÐ 
þ›î û#ÇþyíÅ#öì˜îû ëíy¤½þî !löì?îû èþy£ìyëû ’þz_îû !˜öì•þ ¥öìîÐ 

 1. Answer any five of the following questions: 1×5=5 

  !lÁ¬!¡!‡•þ öë ö†þyöìly þ›„y‹þ!Øþ  ²ÌöìÙÀîû ’þz_îû ˜yG /  

  (a) What is actinomorphic flower? 

    ¤%£ìô îy îà²Ì!•þ¤ô þ›%Ü› †þyöì†þ îöì¡Ú 

  (b) Which type of inflorescence is found in family Lamiaceae and Poaceae?  

    ¡Äy!ôöìëû!¤ G öþ›yöìëû!¤ öˆyöìe †þ# ™îûöìlîû þ›%Ü›!îlÄy¤ ö˜‡y ëyëûÚ 

  (c) What is taxonomy? 

    !îlÄy¤!î!™îû ¤‚Kþy ˜yGÐ 

  (d) What is ecological pryamid? 

    îyÝ•þy!sf†þ !þ›îûy!ô’þ †þyöì†þ îöì¡Ú 

  (e) What are decomposer? 

    !îöìëûy?†þ †þyöì†þ îöì¡Ú 

   (f) What do you mean by Food-chain? 

    Food-chain  î¡öì•þ †þ# öîyöìVþyÚ 

  (g) Name two nitrogen fixing bacteria. 

    ly¥zöìØþÆyöì?l !ßi!•þ†þyîû# ˜%!Øþ îÄy†þöìØþ!îûëûyîû lyô ö¡öì‡yÐ 

  (h) What is didynamous stamen? 

    ˜#‰Åmëû# þ›%‚öì†þ¢îû †þyöì†þ îöì¡Ú 

 2. Answer any two of the following questions: 5×2=10 

  !lÁ¬!¡!‡•þ öë ö†þyöìly ˜%!Øþ  ²ÌöìÙÀîû ’þz_îû ˜yG /  

  (a) What is phyllotaxy? Describe any two types of phyllotaxy with example. 1+4=5 

    þ›e!îlÄy¤ †þyöì†þ îöì¡Ú öë ö†þyöìly ˜%²Ì†þyîû þ›e!îlÄy¤ ’þz˜y¥îû” ¤¥öìëyöìˆ xyöì¡y‹þly †þöìîûyÐ 
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  (b) Describe principles of ICN. What is Holotype? 4+1=5  
    ICNŸé~îû l#!•þ=!¡ xyöì¡y‹þly †þöìîûyÐ ¥öì¡yØþy¥zþ› †þyöì†þ îöì¡Ú 

  (c) Describe phosphorous cycle schematically. 5 
    Séöì†þîû ¤y¥yöìëÄ æþ¤æþîûy¤ ‹þe«!Øþ ö˜‡yGÐ 

  (d) Describe different types of dry dehiscent fruits with example. Give an example of one 
aggregate fruit. 4+1=5 

    l#îû¤ !î˜yîû# æþ¡=!¡ ’þz˜y¥îû” ¤¥öìëyöìˆ xyöì¡y‹þly †þöìîûyÐ ~†þ!Øþ =!FSé•þ þæþöì¡îû ’þz˜y¥îû” ˜yGÐ 

 3. Answer any one of the following questions: 10×1=10 

  !lÁ¬!¡!‡•þ öë ö†þyöìly ~†þ!Øþ  ²ÌöìÙÀîû ’þz_îû ˜yG /  

  (a) Describe the adaptive features of xerophytes with suitable examples. 10 

    !‹þe¤¥ ?yD¡ ’þz!qöì˜îû x!èþöìëy?öìlîû ÷î!¢ÜTÄ=!¡ î”Åly †þöìîûyÐ 

  (b) Describe the distinctive features of the family Asteraceae. Why is it considered as highest 
evolved family among dicotyledons? 6+4=10 

    xÄyÞØþyöìîû!¤ öˆyöìeîû ‹þy!îû!e†þ ÷î!¢ÜTÄ=!¡ xyöì¡y‹þly †þöìîûyÐ xÄyÞØþyöìîû!¤ öˆyeöì†þ !mî#?þ›e# ö×!”îû ’þz§¬•þ•þô 
öˆye î¡y ¥ëû ö†þlÚ 

__________ 


